Puysics 151 TEST 6 Name:

(a.) Two kids ride a toboggan from
rest at point A down the hill
shown. If the total mass of the
kids and the toboggan is 50 kg
and they are going 6m/s the
instant before they smash into
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(b.) A spring gun is loaded by pushing a 0.6-kg

ball into the barrel and locking it into place.
1 (Dﬁring this process the 300-N/m spring is
wbii: compressed (15cm/) When the trigger is
=015 pulled, the ball is released from rest at point
D. Ignoring friction and assuming the spring
gun is being held 1.8m above the ground,
how fast will the ball be going when it hits

the ground? (3pts)
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(c.) A motor is used as shown to

lift a crate with constant speed.
Assuming the height, h, that the
crate is lifted is fixed, what are

two changes that could be made

to this problem that would cause

an increase in the power used by
the motor. Explain your choices.
If there is no way to change the
power used by the motor, explain
why that is the case. (4pts)
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